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Reasoning Mega Quiz for RRB (Solutions) 

 

S1. Ans.(c) 
Sol.  

 
 
S2. Ans.(b) 
Sol.  

 
 
S3. Ans.(c) 
Sol.  

 
 
S4. Ans.(c) 
Sol. India > Pakistan > Sri Lanka > Bangladesh > Nepal 
 
S5. Ans.(c) 
Sol. Rainbow → Regular → Reinforcement → Remedy 
 
S6. Ans.(c) 
Sol.  
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S7. Ans.(c) 

Sol.  

 
 

S8. Ans.(b) 

Sol. 132 ÷ 3 – 10 + 20 × 2 = 74 

 

S9. Ans.(d) 

Sol. TERS/TERS/TERS 

 

S10. Ans.(a) 

Sol.  

 
 

S11. Ans.(d) 

Sol.  

 
 

S12. Ans.(b) 

 

S13. Ans.(b) 

Sol.  
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S14. Ans.(b) 
Sol.  

 
 
S15. Ans.(b) 
Sol. Daughter of grandmother – Aunt;  
Aunt’s only brother – Father. 
 
S16. Ans.(a) 
Sol.  

 
 
S17. Ans.(a) 
Sol.  

 
 
S18. Ans.(c) 
Sol.  

 
 
S19. Ans.(a) 

Sol.  

 
 
S20. Ans.(d) 

Sol. After changing signs according to the question, the new equation will be: 
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S21. Ans.(c) 

Sol. 

 
 

S22. Ans.(b) 

Sol. All except, Tomato grow underground. 

 

S23. Ans.(b) 

 

S24. Ans.(b) 

Sol. GRJJK/GRJJK/GRJJK 

 

S25. Ans.(d) 

Sol. 

 
 

S26. Ans.(d) 

 

S7. Ans.(c) 

 

S28. Ans.(d) 

Sol. Difference-of-difference is 2.  

 

S29. Ans.(c) 

Sol. I × III + II × III = IV pattern.  

 

S30. Ans.(c) 

Sol.  
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